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FE S 5IEEE. TREMLIBNET. EEEE (#Zmy]l X)
(5B L REAEAKE, B AXEERSY)

1. (40 43) %8 Cauchy [EE dx/d=A(DX, x (l))=xo, T A = nxn SEHERE teR,
x eR'. IHEEET: - - |
(1) A BR e EE— R E: | :
(a) A(OXT teR ZEEZE, (b) A(DFT teR AIHE, (c) A(DAT teR f&= Lipschitz
i1, (DAMF teRIELEH Lipschitz, (¢) A —1] teR Al
(25 % XORLERFEER, WX B HIHA v
(a) x(t)=X({t-tg)xe. (b) x(t)=exp(A(t)exp(-A(to))xo,
() x()= XX (to)xo, () x(t)=exp(Alt-to))xo -
(3) ULF det X(OFT XaTa, ERMNERE -
(a) det X(t)= det X{lp),
(b) H det X(()=0 F1i& det X(t0)=0, B 2 2 = ib,
(c) B det X(to)0 £niExf—1] t #H det X((1) 20,
(d) det X((1)=0 = B =1 det X(ty)=0 -
| (4) 2 C & nxn R, X((OC LAEFMEIERIKIE__ .
(a)C IEZE, () CH, ()C XML, @C X HFR .

2. (30 41) R Cauchy AR dx/dt=ax+i(t), X(to)=%o i EAF T fFrEME— e AT
o a AL teR xeR. (1) = 413X 4 Cauchy [ S HIFEIAR. QB

2095 51 DDA R (3) R -0 0 B (OIELEA 51, AR X0 <R
{#1% Cauchy [WBFFEXT A te [to,+o0 &R SRR .

3. (30 4)) kil
(1) (&P +ACy)+HBx y+4x))dy/dx=0 .
2) dyldx=x’y'-xy o

. (30 9 PRI ddi w0 B, S w R ESE. T
d/dtt+wix=cos 1 X THE x(0)=1, dx/d(0)=0 HIR%.




s (204)) BN RS dwdt=At)x T AR nxn BIEERERRT t ZU w
3 ERE S E R, K teR x eR*. & X)L EA BB, UEMH:

(1) X(erw)t R G R — D EA MR

(2) FEAPER BER X(t+w)=X(1)B .
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